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ExamView

What transformation is occurring with CH to form C'H'? Each grid line is one
unit.

a (x)) = x+1y+3) e ()= x-1y-3)
b () 2 (x+1,y-3) 4 ()2 x-1y+3)

ExamView

What transformation is occurring with FG to form F' G'? Each grid fine is one

unit.
a. (x)) = (x+3.y+5) e (x> x-3.y+5)
b () 2 (x-3.y-5) 4 (xy) =2 x+3,y-3)
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ExamView

What transformation is occurring with FK to form F'K'? Each grid fine is one
unit.

]

e ()= (x+35y+3)
4 (k) 2> x-35y-3)

ExamView

What transformation is occurring with C.J to form C'J? Each grid fine is one

unit.
q’l
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a. (x)) = x+35.y-2) e (X)) = x+5y+D)
b () 2> (x-5y-2) 4 (xy) 2> x-35y+2)






